E07-009


In this circuit, two resistors, 

R1 and R2, are connected in parallel to a power supply.  

The power supply has a fixed voltage output.  

The switch, S, is open.  

There is a reading on the voltmeter connected across R1.

The switch is then closed.

(a)
What happens to the reading on the voltmeter?

Tick ONE box ()


It gets bigger.


It stays the same.


It gets smaller.

(b)
How would you explain this?

Tick ONE box ()


The voltage is now shared between the two resistors.


R1 is connected directly across the terminals of the power supply.       So the voltage across it is always equal to the power supply voltage.


The total resistance in the circuit is now bigger, so V increases (as V=IR).


Other (please explain): ______________________________________

_________________________________________________________

________________________________________________________

How confident are you that your answers to this question are correct? Tick ONE box ()


Very confident
Fairly confident
Not confident
Just guessing
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